ST UDY LCLENTRE

RATIO & PROPORTION WORK SHEET

IMPORTANT FACTS AND FORMULAE:

1. RATIO: The ratio of two quantities a and b in the same units, is the fraction %

and we writeitasa:b
In the ratio a : b, we call a as the first term or antecedent and b, the second
term or consequent.

Ex. The ratio 5 : 9 represents with g antecedent = 5, consequent = 9.

Rule : The multiplication or division of each term of a ratio by the same non-
zero number does not affect the ratio.

Ex:4:5=8:10=12:15etc. Also,4:6=2:3

2. PROPORTION: The equality of two ratios is called proportion.
Ifa:b:c:d, wewrite,a:b::c:dwesay thata, b, c, d are in proportion.
Here a and d are called extremes, while b and c are called mean terms.

Product of means : Product of extremes.
Thus,a:b::c:d < (bxc)=(axd)

3. i. Fourth Proportional : If a : b = c: d, then d is called the fourth proportional
ii. Third Proportional : If a: b =b : ¢, then c is called the third proportional to
a,b
iii. Mean Proportional: Mean proportional between a and b is Vab

4. i. COMPARISON OF RATIOS:

We say that (a: b) > (c: d) @% >§
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ii. COMPOUNDED RATIO:
The compounded ratio of the ratios (a : b), (c: d), (e : f) is (ace : bdf).

i. Duplicate ratio of (a : b) is (a2 : b2).
ii. sub-duplicate ratio of (a : b) is («/5 b )

iii. Triplicate ratio of (a : b) is (a3 : b?)

iv. Sub-triplicate ratio of (a : b) is (a3 :b3]

Important Points:

1.

The comparison of two quantities of the same kind by means of division is
termed as_Ratio.
@Gy euemaswWTal E(H SDIeNeYSHMET IGHH6E0 cPeVD UIlbeoug lBFHID SHESLD.

The two quantities to be compared are called the Terms of the ratio.
QUUILS gnlgwl B)(H D66 HmeT AlBHHH 6 2 DI EHET 6I60ILIT.

The first term of the ratio is called the Antecedent and the second term is
called the Consequent.

NS HHH6 (IPHL 2_mI'IenL! (PEHIENIBILIL] STHTBID, QFewiTd o mitenu  LeienipiiLy
eI GMILILIL UTLD.

In a ratio, only two quantities of the Same unit can be compared.
281 2@ 2 mLw W SleTeHmeT alHlHHHe0 UL 6vTLD.

If the terms of the ratio have common factors, we can reduce it to its lowest
terms by cancelling the common Factors.

Al HHIHevieien o mILIH6eT OUTHIS HTTeRlBHmend OBHTEIIQHHIHTEL DleuMmmlevieiern
QUITEHI BITEWIHET HHHEF &i(HEHBEVTLD.

When both the terms of a ratio are multiplied or divided by the same number
(other than zero) the ratio remains unchanged. The obtained ratios are called
Equivalent Ratio.

aldsHPer AW 2 _mlsmenubd @Gy  elewrewimed  QUHSHleTG0m ()
UGHBMTCOT  (UBBWHwDdH Haly) ealSlsD  IBMIoEd SBSGL.  Sleueutyl
S SGHLD oIS HEIGHmeT FLOTEIOTE IS GHBIBET 61601dH FnM6eVMLD.

In a proportion, the product of extremes = product of Means.
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A& HF105 )60 B3O 6TE 61T 65T QUHBGHHOHTEN S =@l clauisbelen
OLIESEED .

Level - I Easy

1.

Find the ratio of 500 g to 250g
500 &l &G 2508 & 2 _6en lHlHHMSH 66l algaled HTEIS.
a.3:1 b.1:2 c.2:1 d.20:1

Madhavi and anbu bought two tables for Rs. 750 and Rs. 900 respectively.
what is the ratio of the prices of tables bought by Anbu and Madhavi?
wrgalujd Sieia Syenilh GCuwengsmen (edBGW ep 750 wBmWID h 900 &G
QUMRISQTTH6T. Seiyad rHalujd euthdlul  Cuengseilear  aldgHsHma  eeflul
QUYL BHITEITH.

a.5:6 b.6:5 c.7:6 d.6;7

Find the ratio of 3 kg to 750 g
3 #& HG 750 & HG 2 _een alHHD HTEwIs.
a.4:1 b.1:4 2Tl d.1:3

Find the ratioof 1 m 25 cm to 2 m
1 15 25 Qg.16 G 2 15 HGWD 2 elen alHHD
a.8:5 b.1:2 c.5:9 d.5:8

The cost of parking a bicycle is Rs. 5 and the cost of Parking a scooter is Rs.
15. Find the simplest ratio of the parking cost of a bicycle to that of scooter.
R WGHeauewmigulledl HBISHS S Lewlld h 5 Gueld, T BH FoHBJ UTH6HIH 6

BPBISHDHH SHWILewID cF 15 WHeuewty wBWID BH FHIJ UTHOT  HBISHHH
sl Leolld Qe B 2 6o alBHlHHmHdH SHT6NISH.

a.1:3 b.3:1 c.2:3 d.3:2
If2:3and 4: are equivalent ratio, then the missing term is

2: 3 oBmb 4:__ suFluwieneu Fiomenl aldHHmiBeT elafled alBULL o @i
a.6 b.8 c.9 d.3

An equivalent ratio of 4 : 7 is
4 .7 @61 FoTel el HLOTEIHI
a.1:3 b.8:15 c.14:8 d.12:21

Which is not an equivalent ratio of 19/, ?
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1624 &H@ 61H FOT BB l6L6V?
6 12 10 20
a. 9 b. 124 c. 10/ d. 20/

9. Findxandy

12:x = y:4=8:16
X IOBEHID Y-6nul el 5ls..
12:x = y:4=8:16
a.24,2 b. 2,24 c. 18,3 d.6,8

10.  Which of the following ratios are in proportion.
Ueteu(hd aldlHmiseisd 61g alslgd FowrGb?
a.3:5,6:11 b.2:3,9:6 c.2:5,10:25 d.3:1,1:3

11. IfA:B=5:7andB:C=6:11then A:B:Cis
A:B=5:7wmpib B:C=6:11eafe0 A:B:C-emwu srewis.
a.55;77 : 66 b.30:42:77 c.35:49:42 d. None of these

12. IfA:B=3:4andB:C=8:9then A:Cis

A:B=3:4wppib B:C=8:9 aaievo A:C oow sTewis
a.1:3 b.3:2 c.2:3 d.1:2

13. If 2A =3B =4C, then A :B: Cis
2A=3B=4C aafev A:B:Cx srams.
a.2:3:4 b.4:3:2 c.6:4:3 d.20:15:2

Level - 2 Moderate

A

| &

14, ¥2-B_C thenA:B:Cis
3 4 5
?z?z% stafled A:B:C & samiLps.
a.4:3:5 b.5:4:3 c.3:4:5 d.20:15:2

15.  If15% of x =20% of y then x : y is?
x @60 15% wBpid y- uled 20% &wib eefled X:y ey  Smewis.
a.3:4 b.4:3 c.17:16 d.16:17

16. Ifx:y=>5:2, then (8x + 9y): (8x + 2y) is

x:y=5:2aafed (8x+9y):(8x+2y) &3 srewis.
a.22:29 b. 26 : 61 c.29:22 d.61:26
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17.  If(x:y)=2:1then (x2-y?): (x2+y?)
(x:y)=2:1 aafled (x2-y2):(x2+Vy?) g srems.
c.1:3

a.3:5 b.5:3 d.3:1

18. Kumaran has Rs 600 and wants to divide it between vimala and yazhini in
the ratio 2 : 3 who will get more and how much?
a. Yazhini, 120 b. Yazhini, 60

c. Yazhini, 180 d. Kumaran, 120
GUIDILLD ap 600 2 6lengl. SiHmen aleoT LMmID Wrheldg SeLuled 2 : 3
B AlSGHHH0 USTHHaNHHBIT. SHeulled wWN(hSHG DHBOTES ML bEGL?

616116161T6Y] 7
a. wrmfedl 120  b. wmpefd 60 c. wmpPlef 180 d. @wyer 120

19. If Rs 782 be divided into three parts, proportional to %%% then the first part
is
ah 782 — & %% %6‘[60’[ WaIBl UGHsenTs Lflegh ourwas Seumpled (Wpw&Hed
U@ elevtenr?
a. Rs. 182 b. Rs. 190 c. Rs. 196 d. Rs. 204

20. A sum of Rs. 1300 is divided amongst P, Q, R, and S such that

P'sshare Q sshare R'sshare :gThen P's share is-
o' sshare R'sshare S'sshare

P-an um@ _ Q- uBi@ _ R-&1 um@ _

ah 1300-23, %6‘[66’[&} al&HHFH60 LIMgGHHme0,

O-a1 UG R-e&1 umi g S-er UBG
SIFHAT P- a1 UBIens  HTewIs.

a. Rs. 140 b. Rs. 160 c. Rs. 240 d. Rs. 320

21. The prices of a scooter and a TV are in the ratio 7 : 5. If the scooter costs Rs.

8000 more than TV set, then the price of a TV set is

RbH O FHSIaUTHEID BBID @ CFTmevdsTl & Gl iguie alemeouler ailldsd
7 5 BHFSE] UTHAIHHET aleney OCFHTemeudsT & UL igullear allsnevenuwt el
¢h 8000 SIFHHD 6edle0, DB OHTMEVESTL & O Igulesr allenev eTeiteor?

a. Rs. 20,000 b. Rs. 24,000 c. Rs. 28000 d. Rs. 32,000

22. A sum of money is to be distributed among A,B, C, D in the proportion of 5 :
2:4:3.If C gets Rs. 1000 more than D, what is B's share?
am Gatemswneais A, B, C, D gdu mrevaumsbd 5:2:4:3 eam aldssde0
Ufsa Carpssiiupaps. C — g, D — & ol e 1000 oHs Senailed
HenL_HG0aflled, B — 61 LBIF oTeitenr?
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23.

a. Rs. 500 b. Rs. 1500 c. Rs. 2000 d. none of these

Find the 4t proportional to 4, 16 and 7
4,16, 7-a1 BraisTeug alHHHmBHd HeuIBLIY.
a. 26 b. 28 c.24 d. 22

Level - 3 Difficult

24,

25.

26.

27.

28.

29.

20% of (A +B) =50% (A - B). find the ratio of A and B
20% (A +B) =50% (A-B) etatfled A opmitb B ulleir elldgid smewrs.
a.7:3 b.3:7 c.3:8 d.8:3

Weekly incomes of two persons are in the ratio of 7 : 3 and their weekly
expenses are in the ratio of 5 : 2. If each of them saves Rs 300 per week, then

the weekly income of the first person is

@resi(® HUTHEHEOLUI UMY eUhHoTeDd 7 : 3 aeip alSHHIHevd, euty GFevey 5 :
2 oaaiB  ASHHSHHNID o silenel.  SauTHeT  @mHeudGL  eumgd  epumul 300
CaLOSHFBIBEIT. GTOIBTED (LPSHED [BLITET GUTJ GU(HLOTEILD 6161666 ?

a. Rs. 7,500 b. Rs. 4,500 c. Rs. 6,300 d. Rs. 5,400

A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5: 6 : 7. If

the total amount in Rs. 390. Find the number of coins of each kind.

@ euulled, @b @pUTUI, S06DUST, 25 eMUSFT HTewiwmider wWwemmGw 5 : 6 : 7
aaiB  alHHHHeL 2 6iengl. DiHeT OoTHSH WHY qh 390 eTe@iled  @eIbleuT(H
[BITGUOTUIMIGB6T6IT  6T600160011Eb6MEb 61631601 7

a. 200, 280, 240 b. 240, 200, 280

c. 200, 240, 280 d. 280, 240, 200

The sum of three numbers is 264 if the first number be twice the second and

third number be one third of the first, then the second number is

(PSIIMl  GTMIHATS  GnBHe0 264 (LPFHeO 6l6wl  BJeRILTougk elewienent GUTEL B
DL MIGLD, CLPGIIBTeUG, 616001 (LPSH6V  elemienemdl  GUTEL cLpeiisled e(hH DL MIGLD 6160760
GJewiLTaudl 616wl WITGI?

a. 48 b. 72 c. 54 d. 64

In the ratio x% of y to y% of x, its fraction value is equal to
y — a1 x% - @b x-a Yo SoLCw spen aldg Leanssler gL

a. %y b. xy C. % d. 1

The ratio of the number of boys and girls in a college is 7 : 8. If the percentage
increase in the number of boys and girls be 20% and 10% respectively, what
will be the new ratio?
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30.

N

@  seomflulled o 6itemn  ewideT  OBHBID  COUEBTIHEHBETET  NH HID . 8.
apemiseiev 20% b wBmid Guewiseisd 10% @b oiHsfldbEd Gumipg LB
A& HID eT6T6017?

a.8:9 b.17:18 c.21:22 d.cann't be determined

The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The numbers

are:

(&Il eTewmidellenl aldled 3 : 4 : 7 OBBID SDiHeEImL W GLHBH60 Levedr 18144,
oTelled OIhG 6166 61601601 ?

a.9,12,21 b. 15, 20, 25 c.18,24,42 d. None of these
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